IERS I &5 #31 ks Hfy | HEHE | HKEtEuE w® =
BB R EEET FRIET
RIB(L ) m3 319 31.0
BRT
#ERID m3 238 230
KrmET
HunmE L=1.3km m3 8.2 8.0 |ETEH
kg T HiET
BEAERIE 300x400 m 480 480
avyy—rE BHERAERAIER 300 L3¢ 96.0 96.0
BEYRET BEYmYELT
SHE MR U t=30 m 18.9 18.0
FEARERYERL  |t=30 m2 1455.1 1450.0
TRI7IRE WAL L =4.0km m3 437 430 [&TEHK ()
9 - MEE YRR | HEA m3 7.7 7.0
CoiE N8 M L=9.0km m3 77 7.0 |HHRER ()
R WET FRI7IVNGRET
THEERIE PR (4 2 #Mt=30) m2 14216 1,420.0
=®E BEFHETRI7ZIVM=50|  m2 1421.6 1,420.0
BRAE RM-30 t=150 m2 335 33.0
HBRER Z2E
TEFEE B A 21 21




£ T
% % T % H =
E Al Al MO By #HE W =
EBEEE
TERIE fHEH# RM-30 t=30 m® 1421. 6

xE BATRERY W =50 [ n’ 1421.6




§2. HEKEEYT

ok #8 & YW I &K

Tl

I & Bl

Al mE

B

el

i

HRKBEYM T

fliET

B i 4 BC A& | 300+400

48.0




§3. BT T
B B £ I & i X
I & E A oA WO Bifsf = W =
ERETT
RYET
RYE (L) m3 31.9
BRET
HRID m3 23.8
FETIET
BITANET |y L=1. 3km m3 8.2




§4. B E ¥ B T I

B E YW B = I & & %
I i& Bl oA BB Bfr HE wm =
BEMRET
BEYIRELT

TAI7I MRS U B t=3cm m 18.9
TAI7 VM EREE AR t=3cm m?2 1,455. 1
7770 AR E AL S |4 Okm m3 43.7 |ETER (BR)
avyy— hEEyREL | B m? 1.1
ComtE AL 53 9. Okm m3 1.7 | HEEE (B




WEmETE TR IRV
®EI t=50 BREET  t=150
IX B R iR L] 1 EE g Fig [ L] T EiE ]
NO. m m m m2 m m m2 m m m2
0+ 0.000 3.710
1+ 0.000 [ 20.000 3.460 3.585 71.70
2+ 0.000 | 20.000 3.540 3.500 70.00
3+ 0.000 | 20.000 2.780 3.160 63. 20
4+ 0.000 | 20.000 2.840 2.810 56. 20
5+ 0.000 | 20.000 3.250 3.045 60. 90
6+ 0.000 | 20.000 3.330 3.290 65. 80
6+ 7.100 7.100 3.380 3.355 23.82 FmEmatHl
6+ 9.500 2. 400 4.380 3.880 9.31 TmEat
6+ 9.500 0. 000 7.830 6.105 0.00 TEat Al
6+ 12.500 3.000 7.940 7.885 23. 66 FEmEtiHl
6+ 14.400 1.900 4.280 6.110 11. 61 Fmatil
7+ 0.000 5. 600 4.230 4.255 23.83
8+ 0.000 | 20.000 3. 950 4.090 81.80
9+ 0.000 | 20.000 4.110 4.030 80. 60
10+ 0.000 | 20.000 3.540 3.825 76. 50
11+ 0.000 | 20.000 3.620 3.580 71. 60
12+ 0.000 | 20.000 3.340 3.480 69. 60
13+ 0.000 | 20.000 2.770 3.055 61.10
14+ 0.000 | 20.000 2.920 2.845 56. 90
15+ 0.000 | 20.000 3.260 3.090 61. 80
16+ 0.000 | 20.000 3.200 3.230 64. 60
17+ 0.000 | 20.000 3.570 3.385 67.70
18+ 0.000 | 20.000 3.570 3.570 71.40
18+ 4.000 4.000 3.570 3.570 14.28 BB R
18+ 4.000 0. 000 3.170 3.370 0.00 0. 500 BlERR
19+ 0.000 | 16.000 2.600 2.885 46.16 1.000 0. 750 12.00
20+ 0.000 | 20.000 4.160 3.380 67. 60 0.500 0. 750 15.00
20+ 1.200 1.200 7.650 5. 905 7.09 0. 500 0. 500 0. 60 FEaEHA
20+ 8.700 7.500 2. 400 5.025 37.69 0. 500 0. 500 3.75 EP
20+ 13.000 4.300 0. 000 1.200 5.16 0. 500 0. 500 2.15 FmEmatAl
&5t 413.0 1421. 61 33.50
TEEEIE (W2 A= 1421.6 m2
SR = t=30 A= 1421.6 33.50 1455. 11
V= 43.7 m3




o]

FhIIAVE

L BHaEAIE 300x400
=30
&2 A A |EEXTEHK bl a5 |EExEER & Bil a2 |EEXE% Bl A |EExEER| B Bl A |EEXEEH
LR 0 + 0.00 18 + 4.00
3.70 ~ 20 + 0.00 36. 00
LR 20 + 8.70 20 + 1.00
15. 20 ~ 20 +13.00 12.00
&t 18.90 a5t 48.00




B 2B

RET BEEMETARI2(3) t=50
BT BANEREHRSAR RM-30 t=150

Ay Y—+rFE T-25

B i 4 E#E B300xH300

300

|95

000000 7/
R
N 0 00 O N 2 I =

{n—Fravsy—+t
50 600 ! (BIEE50) 18-8-25
e EDT D bl

100 18-8-40
EBFEE RC-40

400
545

=1
™
— — — ]

10.0m %470

1. H R AEAE 300X 400
L= = 10.00 m

2.4 —ha 27—k (18-8-25)

V= 0.300 X 0.05 X  10.000 =  0.150 m3
3= 7)) —R (18-8-25) t=5cm

A= 0.600 X 10.000 = 6.00 m2

V= 0.600 X 0.050 X 10.000 = 0.30 m2
4.7 7R

A= 0.050 X 2 X 10.000 = 1.00 m2
5.2 A (RC-40) t=10cm

A= 0.700 X 10.000 = 7.00 m2
6. FEHHEIE

A= 0.700 X 10.000 = 7.00 m2
7.2 7Y —R2 (1.=500) T-25HEHT

N= 2 X 5 = 10 #
8. R

V= 0500 X 0.665 X 2 X 10.000 = 6.65 m3

JEF 48.0m&H7-0 V = 3192 m3
9.#ELD

V= 0.500 X 0.495 X 2 X 10.000 = 495 m3

JEF 48.0m&H7-0 V = 23.76 m3
10.7% 405y

V= 6.65 -  4.95 = 1.70 m3

JEF 48.0m&H7-0 V= 816 m3
1.3 7Y — R EEE LAy

V= 0.16 m3/m X 10.000 = 1.60 m3

JEF 48.0m&H7-0 V= 7.68 m3
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